
 A-51 P. T. O. 

S-677    Roll No. ………………….. 

M. Com.–08 

Cost and Management Accounting 

¼ykxr ,oa izcU/k ys[kkadu½ 

Master of Commerce (M. Com.–10/16) 

Second Year, Examination, 2018 

Time : 3 Hours   Max. Marks : 80 

Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Explain briefly the terms „standard cost‟ and „standard 

costing‟. Enumerate the advantages and limitations of 

standard costing system.  

^izeki ykxr* vkSj ^izeki ykxr fof/k* ‘kCnksa dh la{ksi esa 

O;k[;k dhft,A izeki ykxr fof/k ds ykHkksa vkSj lhekvksa dk 

mYys[k dhft,A  

2. “Evolution of cost accountancy is the outcome of 

deficiencies in financial accounting system.” Discuss 

this statement.  

ßykxr ys[kkadu dk fodkl] foŸkh; ys[kkadu iz.kkyh esa ikbZ 

tkus okys dfe;ksa dk izfrQy gSAÞ bl dFku dh foospuk 

dhft,A  

3. From the following information, prepare a Process 

Account, Abnormal Gain Account and Normal Loss 

Account :  

Input of raw material  840 units @ ` 40 per unit  

Direct material  ` 5,924 

Direct wages  ` 8,000 

Overheads ` 8,000 

Actual output  750 units  

Normal loss 15% 

Value of scrap per unit  ` 10 per unit 

fuEukafdr lwpukvksa ls izfØ;k [kkrk] vlkekU; ykHk [kkrk 

,oa lkekU; gkfu [kkrk cukb;s % 

dPps eky dh vkxr 840 bdkb;k¡ ` 40 izfr  

bdkbZ dh nj ls 
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izR;{k lkexzh ` 5,924 

izR;{k etnwjh  ` 8,000 

mifjO;; ` 8,000 

okLrfod mRiknu 750 bdkb;k¡ 

lkekU; gkfu  15% 

{ksI; ewY; izfr bdkbZ ` 10 izfr bdkbZ 

4. Ram Prasad Ltd. manufactures 10000 units of product 

„A‟ at a cost of sales of ` 80 per unit and there is home 

market for consuming the entire volume of production 

at the selling price of ` 85 per unit. In the year 2016, 

there is fall in the home market which can consume 

10000 units only at a selling price of ` 74.40 per unit.  

The analysis of cost of sales for 10000 units discloses :  

 ` 

Materials 3,00,000 

Wages 2,20,000 

Fixed overheads 1,60,000 

Variables overheads 1,20,000 

The foreign market is also explored and it is 

ascertained that this market can consume 20000 units 

of the product, if offered at a selling price of ` 71 per 

unit. It is also discovered that for additional 10000 

units of product, the fixed costs will increase by 10%. 

Is it worthwhile to try for capturing the foreign  

market ? 
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jke izlkn fy- ^,* oLrq dh 10000 bdkb;ksa dk ` 80 izfr 

bdkbZ foØ; ykxr ij mRiknu djrh gS vkSj ` 85 izfr 

bdkbZ foØ; ewY; ij lEiw.kZ mRiknu dh [kir ds fy, 

?kjsyw cktkj miyC/k gSA  o”kZ 2016 esa ?kjsyw cktkj esa 

fxjkoV vk;h gS] ftlesa 10000 bdkb;ksa dh [kir ` 74-40 

izfr bdkbZ foØ; ewY; ij gh gks ldrh gSA  

10000 bdkb;ksa ds fy, foØ; ykxr ds fo’ys”k.k ls irk 

pyrk gS % 

 ` 

lkexzh  3,00,000 

etnwjh 2,20,000 

fLFkj mifjO;; 1,60,000 

ifjorZu’khy mifjO;; 1,20,000 

fons’kh cktkj dh Hkh [kkst dh x;h vkSj ;g irk pyk fd 

bl cktkj esa 20000 bdkb;ksa dh [kir gks ldrh gS] ;fn  

` 71 izfr bdkbZ foØ; ewY; ij bls izLrkfor fd;k tk,A 

;g Hkh iyk pyk fd oLrq dh vfrfjDr 10000 bdkb;ksa ds 

fy, fLFkj O;; 10% ls c<+ tk;saxsA D;k fons’kh cktkj dks 

idM+us ds fy, dksf’k’k ykHkizn gS \ 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Describe the various methods of costing indicating the 

industries to which they are applicable.  

ykxr ys[kksa dh fofHkUu iz.kkfy;ksa dk la{ksi esa o.kZu dhft, 

rFkk mu m|ksxksa dk mYys[k dhft, ftuesa mudks ykxw fd;k 

tkrk gSA 

2. Differentiate between normal and abnormal wastage of 

materials and explain their treatment in cost accounts.   

lkexzh dh lkekU; {kfr rFkk vlkekU; {kfr eas vUrj dhft, 

rFkk ykxr ys[kksa esa budk mipkj crkb,A  

3. Distinguish between direct and indirect labour. Give 

examples of each.  

izR;{k rFkk vizR;{k Je esa vUrj dhft,A izR;sd ds 

mnkgj.k nhft,A  

4. What is the difference between selling overheads and 

distribution overheads ? Give three examples of each.  

foØ; mifjO;; rFkk forj.k mifjO;;ksa esa D;k vUrj gS \ 

izR;sd ds rhu mnkgj.k nhft,A  

5. “Job costing is more accurate than process costing.” 

Comment.  

ßmidk;Z ykxr fof/k izfØ;k ykxr fof/k ls vf/kd ifj’kq) 

gSAÞ foospuk dhft,A  
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6. What are the essentials of an effective budgetary 

control system ?  

,d izHkkoh ctVjh fu;a=.k iz.kkyh ds vko’;d rRo D;k  

gSa \ 

7. What do you understand by „zero based budgeting‟ ? 

How does it differ from traditional budgeting ?  

^’kwU; vk/kkj ctVu* ls vki D;k le>rs gSa \ ;g 

ijEijkxr ctVu ls fdl izdkj fHkUu gS \ 

8. Explain clearly as how is cost accounting helpful in 

decision-making.  

Li”Vr% le>kb, fd ykxr ys[kkadu fu.kZ; ysus esa fdl 

izdkj lgk;d gSA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k, % 

1. Main objective of cost accounting is to determine 

income.    (True/False) 

ykxr ys[kksa dk eq[; mís’; vk; fu/kkZj.k djuk gSA   

    ¼lR;@vlR;½ 
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2. Bin Card is prepared by Cost Accounting Department.   

     (True/False) 

fcu dkMZ ykxr ys[kk foHkkx }kjk rS;kj fd;k tkrk gSA   

    ¼lR;@vlR;½ 

3. High labour turnover rate denotes good human 

relations.   (True/False) 

mPp Jfed vkorZ vuqikr vPNs ekuoh; lEcU/k n’kkZrk gSA   

    ¼lR;@vlR;½ 

4. At break-even point, fixed cost is equal to contribution. 

      (True/False) 

le&foPNsn fcUnq ij] LFkk;h ykxr va’knku ds cjkcj gksrk 

gSA    ¼lR;@vlR;½ 

5. Master budget is a summary of all functional budgets.   

     (True/False) 

ekLVj ctV lHkh dk;kZRed ctVksa dk lkjka’k gksrk gSA  

    ¼lR;@vlR;½ 

Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, % 

6. Main object of cost accounting is ........... on costs.  

ykxr ys[kkadu dk izeq[k mís’; ykxr ij 
----------------

 djuk 

gksrk gSA  

7. Sunk cost arises due to ........... to machine.  

Mwcr ykxr e’khu ds 
-----------------

 ds dkj.k gksrh gSA  
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8. LIFO is not a suitable method when price is ......... in 

the market.  

tc cktkj esa Hkko 
------------------

 jgs gkas rks yhQks (LIFO) i)fr 

mi;qDr ugha gSA  

9. Allocation of overheads over various cost units is 

called ............. 

mifjO;;ksa dk fofHkUu ykxr bdkb;ksa esa ck¡Vuk mifjO;;ksa dk 

------------------
 dgykrk gSA  

10. When actual loss is ............. than the estimated loss, 

that is called abnormal gain.  

tc okLrfod gkfu vuqekfur gkfu ls 
-----------------

 jgrk gS rks 

og vlkekU; ykHk dgykrk gSA  
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